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Organisation and Management Fundamentals

Time Allowed: 3 Hours

Full Marks: 100

The figures in the margin on the right side indicate full marks.

Section I

Answer Question No. 1 which is compulsory and any one question from the rest.

I. (a) Do you agree with the following statements? Write ‘Yes' or ‘No® giving proper reasoning in support of your

answer. No mark will be awarded for just mentioning ‘Yes’

(1) Responsibility cannot be delegated.

or ‘No’. | x6H=6

(i1) Delegation of authority increases the workload of the top management.

(iii) Organisation, being a closed system, continuously interacts with its environment.

{iv) Organisational behaviour focuses primarily on technology.

(v) Mission is defined as the ends which the organisation seeks to achieve by its existence and operations.

(vi) The goals of an organisation provide legitimacy to its existence.

(b) Match the following:

Ix12=12

(i) Matrix Organisation (A) Offers expert advice
(ii) Critical Success Factors (B) is an important part of the organising process
(111) Classical Theory of Organisation (C) is the backbone of the management
(iv) Confict (D) interacts with its environment
(v) Ability , (E) Focuses primarily on people
(vi) Delegation of Authority (F) ensures organisational success
(vii) Bargaining (G) leads to certain positive outcomes
(viii) An open system (H) Work on the basis of a minimum comumon
programines
(ix) Line & Staff organisation (I) Process of arriving at an agreement
(x) A coalition (J) is not a homogeneous and compact group
(xi) Organisational Behaviour (K) Means the skills & capabilities of a person
(xii) A formal organisation (L) Takes a static & rigid view of organisations.
2. (a) What factors should be kept in view while selecting a suitable basis of departmentation? 4
(b) Distinguish between Organisation Theory and Organisational Behaviour. 4
(c) What do you mean by *Mission’? State the mission of any company you know. 3+1=4

3. (a) What do you understand by ‘Positive Reinforcement’ and ‘Negative Reinforcement’ in an organisation?

343=6

(b) Explain in brief the three levels of conficts in any organisation. 6
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3. (a) ol e #  uAreTe UE RO B W ST S FHE B2

(b) He # w7eq # ge %, forel i @ il weensd | 3+3=6
et 1
A S 4 sifar 199 3 9 el 3 vt SR SR
4. (a) @™ 1% HYE B Fem 1% FoA 9 fHemsd | 1x12=12
e W e fida
(i) TR (A) fagm x° &Ry
(i) TR-Hifse v (B) Fd SHIFA
(iii) o e (C) weardt et
(iv) =T BH-1TR (D) AT 1 qof SRTdoT
(v) 3TeH-Taer amavgsdid (E) uftada it Frafsa afswan
(vi) Hae & ad (F) widienl ST=afes S
(vii) @ 9 ufEo (G) e ofi fasita gafato =10
(viii) derd framo (H) &8 = Ja= der
(ix) Tdeh (ROl (1) awinfeq drae
(x) Teter Sge (J) FHIa
(xi) TN Fom (K) SHeanreil 393
(xii) T9&IEHT (Unfreezing) (L) Has wa HegH
(b) Fr=fefea i vt =1 ol w9 fofad - 1x7=7
(i) 9
(ii) THo dto 2o
(iii) So 3o Tho 3o
(iv) o THo $o
(v) 3o So Jo
(vi) ®lo 3fo Sisto
(vii) &
(c) 3faa vl g e v wiRE: 1x10=10
(i) w1 sAfufae =i ¥ 262 F FTERL # T H et Aveel Haetd Hi g &
Tl B
(i) Hoel =1 gorem & fod @ @ RSt g] 41 g gr G YEEN ST Hehl € |
(iii) i WeiseF STeattre eI a1 giomm-3Ra 39 €, 3% el Sl ¢ |
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